AP Chem DYQ -
WK™ Reviews T

Target 1: 1 can write the equilibrium expression for a balanced chemical equation.

Equilibrium: a state in which there are no observable changes as time goes by
Physical Equilibrium: an equilibrium in which only physical properties change

© example:

Chemical Equilibrium: a reversible chemical reaction in which the rate of the forward
reaction equals the rate of the reverse reaction

@ example:

There IS a relationship between chemical kinetics (ch. 14) and equilibrium (ch. 15).
Consider the following reaction . . .
A+ 2B & AB;

Assume that the above reaction occurs via a mechanism consisting of a single
elementary step. The rate at which AB:2 is produced is the same as the rate at which
AB; is consumed.

rateforward - kf [A][B]2 and raiefeua[se - kr [ABQ]

at equilibrium . . .

®

Note: Because rate constants are temperature dependent, it follows that equilibrium
constants are also temperature dependent.

The Law of Mass Action is an equation for a chemical equilibrium which shows the
relationship between the concentrations of reactants and products. An equilibrium-
constant expression (or simply an equilibrium expression) can be written for equilibria

as follows: aA + bB < cC + dD
@ [ ]=concentration in molarity
K. = K. = equilibrium constant
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Note: The concentrations of pure solids and liquids are never included in equilibrium
expressions!

Example: Write the equilibrium constant expression for the fdllowing reaction:

®

3Ha@ + Nag) < 2 NHs(g)

The Haber Process is used to produce ammonia which is a chemical used In fertilizers.
Examine the chart below regarding 3 different experiments which produce ammonia:

Resuits of Three Experiments for the Reaction Nz (g) + 3H: (g) & 2NHi (g)

Experiment | Initial Equilibrium INHaJ*
Concentrations (M) Concentrations (M) | K, =————
[Ha]® [Ne]

1 1.000 M N, 0.921 M N, K.=8.02 x 10 L* mol™
1.000 M H, 0.763 M H,
0.000 M NH; 0.157 M NHs

2 0.000 M N3 0.399 M N, K. =6.02 x 10 L? mol™
0,000 M H, 1,197 M Hy
1.000 M NHs 0.203 M NHs

3 12.00 M N 259 M N, K. =6.02 x 102 L* mol”
1.00 M Hy 2.77 M H
3.00 M NH, 1.82 M NH3

What conclusions can you make based upon the chart above?

®

[

Which of the following graph(s) of concentration¥§ time seem unlikely for the Haber

process?
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Target 2: | can numerically evaluate K. and K, from a knowledge of the equilibrium
concentrations (or pressures) of reactants or products, or from the initial concentrations
and the equilibrium concentration of at least one substance.

Target 3: | can interconvert K and K.

Solving for K, instead of K.! When the reactants and products of a chemical
equilibrium are all gases, we can write equilibrium expressions in terms of partial
pressures instead of molar concentrations. When the partial pressures are given in
atmospheres, we write the equilibrium constant as K, instead of K. The numerical
values of K, and K are usually different. There is a way to convert from one constant to
another by using the following relationship: e egf, teSine Lariaoles

Practice problem: Methanol, CH;OH, is produced commercially by the catalyzed
reaction of carbon monoxide and hydrogen:

CO(g) + 2Ha(g) & CHsOH(@ at25°C
An equilibrium mixture in a 2.00 liter vessel is found to contain 0.046 mol CH30H, 0.170
mol CO, and 0.302 mol Ha. Calculate the value of K. and K, at this temperature.

Target 4: | can use the equilibrium constant to calculate equilibrium concentrations.

What does an equilibrium constant tell us? The value of the equilibrium constant
depends upon the nature of the reaction and upon temperature. At constant
temperature, we find that the magnitude of K varies greatly from one reaction to
another. The value of K tells us the relative guantities of reactants and products formed
at equilibrium.

If K >> 1, then the equilibrium lies to the right; products are favored.

If K << 1, then the equilibrium lies to the left; reactants are favored.

Consider the following three examples with varying magnitudes of Ke.
Example 1: 2 Os(g) < 3 Ox(g) at 2300°C ; Ko=2.54 X 102
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The equilibrium mixture will contain very littte Oa.

Example 2: Cli(g) < 2Cl(g) at 25°C; Kc=1.4x 10°%
At equilibrium, the mixture of gases will contain mostly Cla(g).

Example 3: CO(g) + H2O(g) & Hag) + COa(g) at 830°C; K. =5.10
The quantities of reactants and products will be comparable.

Other notes concerning equilibrium constants:

« When the equation for a reversible reaction is written in the opposite direction,
the equilibrium constant becomes the reciprocal of the original equilibrium
constant.

Ex: The K, for the reaction 2NQ(g) + Oag) < 2NOa(g) is 5.0 x 102, Find the K. for
the reaction 2NOa(g) < 2NO(g) + O2g).

¢ The value of K also depends upon how the equilibrium is balanced.
Therefore, when quoting an equilibrium constant, you not only need to state
the temperature, but you must also write the chemical equilibrium!

Ex: The reaction for the production of ammonia can be written in a number of ways:
a) Natg) + 3Ha(m) & 2NHa(g)
b) 1/2 No(g) + 3/2 Ha(g) < NHs(g)
c) 113 No(g) + Ha(g) & 2/3 NHs(0)

Write the equilibrium constant expression (K) for each of the above. How are the
equilibrium constants related to one another?




ex: A(g +2B@ < Cigy Ke=4

@ 3A@ + 6B « 3C), Ke=7?

» |fareaction can be expressed as the sum of 2 or more reactions, the
equilibrium constant for the overall reaction is given by the product of the
equmbrlum constants of the individual reactions,

A+BeC+D K=
C+De E+F Kec=
KJJC=

‘Heterogeneous Equilibria

HETEROGENEOUS EQUILIBRIA are those equilibria which contain reactants and/or
products which are in different phases. Homogeneous equifibria would be equilibria in
which all reactants and products are in the same phase.

Heterogeneous equilibrium:

Homogeneous equilibrium:

If a pure solid or liquid is involved in an equilibrium, its concentration is not included in
the equilibrium constant expression! Even though they do not appear in the equilibrium
expression, the pure solids and liquids participating in the reaction must be present for
an equilibrium to be established.

ex: Write the equilibrium constant expressions for K¢ and Kp for the following reaction . .
SnOyxs) + 2C0@ <= Sn) + 2COzg)

Solving Equilibrium Problems . .. Let the fun begin!

When solving equilibrium problems, you are usually asked to solve for the equilibrium
constant or the concentration (or partial pressure for K, problems) of a reactant or
product. In some problems you will be asked to sclve for the equilibrium
concentration(s), and in other problems you will be asked to solve for initial
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concentration(s). Let's work through some examples. NOTE: We will not have time to
work very many problems in class, Therefore, it is imperative that you take time outside
of class fo do your problem sets and any additional assigned problems.

1. Salving for K when given equilibrium conditions:

Phosphorus trichloride gas and chlorine gas react to form phosphorus pentachloride
gas:
PClsig) + Ch(@ < PCls(g) -~ Teels

A gas vessel is charged with a mixture of PCI3(g) and Ci2(g), whi;zﬁ is allowed to
equilibriate at 450 K. At equilibrium the partial pressures are Poyuy*0.124 atm, P =
0.157 atm. and Pecis = 1.30 atm. What is the value of K;, at this temperature? Does the
equilibrium favor the reactants or products?




2. Solving for K when only one of the equilibrium concentrations is known:

Strategy.
1) Tabulate the known initial and equilibrium concentrations of all species.

2) For any (and all) species that you know both its initial and equilibrium
concentrations, calculate its change in concentration.

3) Use the balanced equation to find the changes in concentrations for all other
species in the equilibrium. .

4) Find the equilibrium concentrations of ail species through their changes in
concentrations . . . now plug in and solve for K!

A mixture of 1.374 g of Hz and 70.31 g of Br; is heated in a 2.00 liter vessel at 700 K,
These substances react as follows:

Ha(g) + Brag) < 2HBr(g)
At equilibrium the vessel is found to contain 0.566 g of Hp. Calculate the equilibrium
concentrations of the H,, Brz, and the HBr. Calculate K.
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3. Solving for K when only the initial concentrations are given:

Target 5: | can calculate the reaction quotient, Q, and by comparison with the value of
K. or K, determine whether a reaction is at equilibrium. If it is not at equilibrium, | can
predict in which direction it will shift to reach equilibrium.

When given initial concentrations of reactants and products, a reaction will usually shift
to the right (forward reaction favored) or shift to the left (reverse reaction favored) until
the systemn reaches equilibrium. If you are only given the initial concentrations (or the
initial partial pressures of gases), then you must . . .
1- calculate the Q (reaction quotient) for the given conditions in a very similar
way that you calculated K . . .

aA + bB & cC + dD

[C)° (D) Whenever you solve for Q, you are
Q = e solving for conditions which are NOT
[A] [BY° at equilibrium!

2- Next determine if the system is af equilibrium. If it is not at equilibrium,
determine which direction that the equilibrium will shift in order to reach

equilibrium.
if Q = K, then the system is at equilibrium!

If Q > K, (€) then the equilibrium will shift left (forming more reactants)
If Q < K, (=) then the equilibrium will shift right {forming more products)

3- Finally complete an equilibrium table as described in the previous problem.

example: . Consider the following reaction:
Ag'(aq) + Fe*'aq) & Fe™(ag) + Ag(s); Ko=2.98

The initial concentrations are [Ag'] = 0.200 M, [Fe*'] = 0.100 M, and [Fe™] = 0.300 M.
What are the ion concentrations when equilibrium is established?




WARM-UPS! (non-calculator)
M&m‘-u Kc.

1. Assume 10.0 mol of HBr (g) is placed in a 20.0 liter flask at 300 K. betifsate  if
40.0% of the HBr decomposes when equilibrium is reached.

2HBr(g) < Hag) + Brag)

2, Nyg) + Oag) & 2NO(g) ; K.=4.00@ 500°C

If 6.00 mol of No and 6.00 mol of O, are placed in a 2.00-L flask and allowed to
reach equilibrium, what is the equilibrium concentration of NO?

3. 2A@g + 3Bag < Dg); Ke.=5000at 100K

A 3.00-L flask is initially filed with 0.200 M A, 0.100 M B, and 0.200 M D.
Calculate the equilibrium concentrations of A,B, & D.

4. Consider the following:
HF(aq) & H'aq) + F(aq) K.=6.8X10-4
H,CoO4aq) < 2H'tag) + C:04%(ag) K. = 3.8 X 10-6

Determine K for the following reaction:

2 HF(aq) + C:04%(aq) & 2F(ag + H2CyO4aq)

Choices:
a) 4.1x10°
b) 0.12
c) 6.3 x 10
d) 2.8x 10

‘Le Chatlier's Princinle
Target 6: | can explain how the relative equilibrium quantities of reactants and products

are shifted by changes in temperature, pressure or the concentrations of substances in
the equilibrium reaction.
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Target 7: | can describe the effect of a catalyst on a system as it approaches
equilibrium.

Le Chatlier's Principle: if a chemical system is at equilibrium and is disturbed by a
change in temperature, pressure, or concentration of one of the components, the
system will shift its equilibrium position so as to counteract the effect of the disturbance.

Changes in reactant or product concentration

Changes in Pressure or Volume

Changes in Temperature

Effects of Adding a Catalyst

Practice: For the following reaction, AH = 2818 kJ
B6CO2(g) + 6H0 () & CsHi20s (s) + 602 (q)

How is the equilibrium yield of CsH120s affected by:
a) increasing the partial pressure of CO2?

b) increasing the temperature?
c) removing CO,7

d) decreasing the total pressure?
e) removing part of the CeH1206?

f) adding a catalyst?
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